Losungen zu Addition:

Ubungen: a) f-4,3=87

by 37—k =12,59
8 5
C)——=U-——
11 9
4 175=1-0
3
U ay B—43=87 |+4,3
= L—-43+43=87+43
= p =13
= L ={13}
zu by 37-k=12,59 |+ Kk
= 37—-k+k=1259+k
(und jetzt k isolieren) = 37=1259+k | —12,59
& 37-12,59=1259+k —-12,59
= 24,41=Kk
= L ={24,41}
8 5 5
Zu ¢ ——=Uu-= |+=
11 9 9
8 5 5 5
= ——+—=U——+—
11 9 9 9
. _ 8-9 5.11
(gemeinsamen Nenner bilden!) < ——+—=U
11-.9 9.11
—72+55
< ————=u
99
17
= —-=—=u
99

17
= L={-—
{ 99}
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Zu dy

(1,75 in einen Bruch umwandeln)

(gemeinsamen Nenner bilden!)

Algebra
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175:1—
3
1
LB+Q=§—Q+Q
Z+Q:l
4 3
T 1_14_
4 4 3
_ 17
={ 12}
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